8—09 » —- Ny
o1, VBRI F e s B /ol XL

8-09. 9-12 74 RUMLAZ B B & UK AIF il e Ty 1D /N bl 3o B 20 gy H 2500 L, 9 HL g
BIXTE. B, B TR

—. H#&

8-09. 9-12 BUEE B LML, AT 1. 24 3. 5. 7T/ HAL R AL B S E BE
B o ZMMLIEFTE R SR Baa b i s R, S T 2 SO0 il
ANEBE AT REEY) TR AR A R AN I 80°C A i B Sk 2k L il
JRANRLAK T 100mg/m’,

=, ®R

8-09. 9-12 BIKHLEY N BN . 8-09 AL 54 No.7.1. 8, 8.5, 9 WUMHLZ: 9-12
A No.8. 9 MWL YA HIE 8-09N0.6.8, 9-12No0.7.7. 9-12-12N0.6.8. 7.1 PUAHL
e

8-09. 9-12 B4 KUK wT thll MU 1 g st I 1 Jg e v Ao 25

B H A B DAL I E FERIR, “7 “386” XA ATl Ee 0° « 90°
180°  —FifAfE.

RBLIES 7k D 3. 2 8-09N0.6.8, 9-12No.7.7, 9-12-12No.6.8. 7.1 4 A
K.

=. &1

8-09. 9-12 BNMMLEHM-5E . Hloc. BEXE . AL2hdl . HLEESEA K. %1 8-09 ALK
No.7.1. 8. 8.5 =FHl'5 R IEALEK), 9-12 B No.8. 9 —FiHl5 A 8-09 #Uf¥) No.9
ML R FH R 2 454

e AR 1 =T 1) R LR AT Be v . e S 2. B PR L,
DR B PR AT 5

BU5E: A T AR I e plahy T e A4

BRI SRS LR T s A g b, A T S AR 2L

AL I E . B . DRSS K. 8 e O AN e T 8-09 Y No.7.14
8 KR BN 1 R I %) T 8-09 7 No.8.5. 9 2 9-12 % No. 8. 9 RSN %hA&K
T Y

g . TR

WU XL S e, Ko TEF7. XD B ey, DL
BRI KR o LR LR 1 AR FH P SEFe 75 ZERTIE ARG, (HZAETT 52 45 [ FhyE i .

140



8-09 9-12 FHEE.LE RS EHGR

GIREAE AR Y WA M o B 1 i %) GIN Wy
LRss WA gy o | ThE| BERER (1 45)
No. |t/min | % | mh | Pa | kW | = 7 | kW (4 %)
1 | 675 [10523] 4.62
2 | 944 [11026] 5.82 |Y132S,-2| 7.5 | M10X 60
3 | 1215 [11347] 7.15
8-09 [6.8A]2900 | 4 | 1485 [11439] 8.63 Y160M,2| 11
5 | 1754 [11341]10.28 M2 60
6 | 2024 [11063[11.96 [, corr I &
7 1 2295 110634 13.60 2
1 | 1700 [11590] 9.32
2 1 2160 [11820]11.59 [Y160M,-2| 15
3 | 2620 [12000]13.57
9-12-12|6.8A| 2930 | 4 | 3080 |12140]15.93 M12 X 60
5 | 3540 [12120]18.27 Y160L-2 | 18.5
6 | 4000 [11980]20.55
7 [ 4460 |11740] 22.60] ¥ 18OM-2| 22 A L3
1 | 2074 [12347]12.10 CRRIENY
2 | 2658 |12661]15.02 " [60M-2) 15
3 [ 3000 [12807]16.43 MI12 X 60
9-12-12|7.1A | 2900 [ 4 | 3242 12896 18.02| * '00L-2 | 18:5
5 | 3826 [13024[21.14|Y180M-2] 22
6 | 4410 [12935[24.30
- X
774990 [12739] 27.65 | * 200Li-2| 30 | M16X70
1 | 2349 [14543]15.81
- X
2 [ 3010 [14887|19.60 ¥ [5OM-2| 22 | MI2X60
3 | 3671 [15171]23.52
9-12 |7.7A | 2900 [ 4 | 4332 [15319]27.59 | Y 200L:-2| 30
5 | 4993 [15220(31.72 MI12 X 60
6 | 5654 [14985]36.07] Y 200122 37
7 | 6315 [14583[40.40 [ Y225M-2] 45
1| 768 [11472] 5.53 V13252 75 | M10x 60 Y38><80
2 | 1075 |12021] 6.96 il Qs 50%110
3 | 1383 [12371] 8.71 vioMm,-2| 11
SR RIEEE Bk
: 201 X Y
6 | 2304 [12061] 1435 " [60M=-2) 15 ) MI2X60 1Qs 50110
7 | 2612 [11594] 16.61
8 | 2919 |11016]18.38 Y160L-2 18.5

141




8-09. 9-12 = EELE XN ARSI fFR

WL |5 |7 |3 & |4 K| & H 5 ML W e
e DE [y o ] BR |
No. |t/min| 5 | m*h | Pa kW | ™ 7 kw (4 %)
1 | 1110 |14867] 10.36
) 42x11
2 [ 1554 [15579 ] 13.04 | 160M=-2) 13 Qey 22x110
3 [ 1998 [ 16033 | 1631 | Y160L-2 [18.5] M12X60 | 50x110
509 | 8D | 2030 | 4 | 2442 | 16163 | 1951 |Y180M-2| 22 T
5 | 2887 | 16023 | 23.04
6 13331 15632 | 26.88 | Y 2V0L1-2| 30| 1670 ooy 33X110
7 3775 [ 15026 31.11 (BEEERR)° 50%110
8 [ 4219 (14277 | 3443 | L2002 37
1 | 1341 [17013 ] 1432 M12 X 60 42x110
2 | 1877 | 17828 18.02 Y160L-2118.5 (E?é%%éﬁ%*’i*)QSYssxno
42550 Tsdog | a657] Y200L2| 30
8-09 |8.5D| 2950 : M16X 70 55x110
5 | 3487 | 18338 | 31.85 |Y200L,-2| 37 | 0.y QsY
(P2 55x110
6 | 4023 [17888]37.15 | o op o 4
7 | 4560 | 17196 | 43.00
8 (5096) [(16339)/(47.59)
1 | 1591 | 19073 | 19.05
2 [ 2228 | 19988 23.98 | Y200L12| 30 |\ i1e o0l 55x110
3 | 2865 | 20569 | 30.00 s i | &Y
4 13502 20736 35.90 [Y200L,2] 37 |CLHERIE) ™ 55x110
5 | 4138 | 20558 | 42.37 | Y225M-2] 45
8-09 | 9D | 2950 0140
6 | 4775 | 20054 | 49.44 | Y250M-2] 55 Qy 2
7 | 5412 | 19278 | 57.22 M20 500|231
' V28082 | 75 (HbJEIIZ ) Y65><140
8 | 6049 | 18318 63.33 - Y 110

142




8-09. 9-12 = EELE XN LERE SR fFR

BUS [ | 7P | &4 | & L 3] Bl W e
e & [y [P BREE |
No. |t/min| 5 | m*h | Pa kW | & 7 kw (4 %)
1 [ 2996 16216 | 22.97
2 | 3824 [16528 | 28.24 | Y 200L1-2| 30
3 [ 4651 [16931 | 33.98 [Y200L-2] 37 | \1y 400 | ey 33X 110
4 | 5478 [ 17096 | 39.78 55%110
D | 2950 | 5 | 6306 | 16931 | 4550 |Y225M-2| 45
60 x 140
6 | 7133 | 16729 51.83 |Y250M-2| 55 |M20X500|QsY oo™
55x110
9-12 7 1(7960)((16216)|(57.84)
14
1| 4295 20802 | 4224 | oo | s Quy 50140
65x%x140
2 [ 5481 21202 51.93 M20 X 500
oD 2970 | 3 | 6667 | 21719 62.48
] 65 x 140
4 7853 [21931] 73.15 | 128052 75 Qy 2
5 9039 [21719] 83.71 | Y280M-2| 90 65x140
6 |(10225)21461)|(95.31)
7 |(11411)(20803) (106.4)

143




8y
Ly
||_|||| N K
= |
2z iz H— - 1H = (-}
W. m< |
==l —
Zpx ¢cu 9
e -08 | My
P
e B)

m L
T | [} 3
++++++ W SO
] _\( | .ﬁ.\g “

1 N
9

206

¢
Bl oY AN W BN B RS

d
£a

— —
>

_.l

I
I
0-

o AN AN
[ce N> Neop]

144



Syl

8-09 9-12 9-12-12 TALERI L H & R B0l KM LA A 22 RsF 3
- 5o < R H X, &
moooE b | d L
=Y RAIRAIIL = mXd A A | As | As | As | Ag | A | Ag ] mXd, | N | K | 2 ¢
Y1328,2 7.5kW 726
3-09No.6.8A  [YI60M,-2 TTKW | 153|®210{240/6X © 10| 86 | 64 |128]154| 97 | 72 |144|169|8 10| 410 432|500 |660| 729|716
Y160M,2  15kW
Y160M,-2  15kW 752
0-12-12N0.6.8ANV160L-2 18.5kW | 240|274 & 3038 X d10[192| 90 [234(260] 86 | 70 |128]154|10% ©7|428 |439|500|660(712|716[ 797
Y180M-2 22kW 822
Y160M,-2  15kW 760
Y160L-2 18.5kW 715 805
9-12-12N0.7.1 A er e 0250|280/ 0310/8 X 10/200( 90 242268 | 90 | 70 |132]158] 10X ©7|447 459|500 {660 | "7 | 716 (3
Y200L,-2 30kW 815 935
Y180M-2 22kW 719 838
Y200L,-2  30kW
-12NoTTA (e oy ® 270310 @336[8 X 010|214| 90 260|282 94 | 70| 140| 162{10X 7| 479 |490 (500|660 | 716 | 878
Y225M2  45kW 943
w s | or | c 0 0 180 st | bie | AREH
- G H| M| G H| M| G H | M (4 5) (kg) e k) =
800 No.68A | 114 | 115 | 882 | 560 | 1026 | 926 | 560 | 992 | 882 | 560 | 1047 | M16X400| 49 190
9-12-12No.6.8A | 134 | 107 | 940 | 660 | 1126 | 1024 | 560 | 1000 | 940 | 560 | 1118 | M16X400| 55 196
9-12-12No.7.1A | 140 | 109 | 980 | 660 | 1146 | 1067 | 560 | 1019 | 980 | 560 | 1141 |M16X400| 62 204
9-12No.7.7A | 147 | 111 | 1047 | 660 | 1180 | 1139 | 560 | 1050 | 1047 | 560 | 1180 |M16X400| 68 220




8-09 No, 7.1, SDIL & VW SR EEAEVERANEZEEN R T8 H

E
ny xde
o) Gl - )
[ -]
=
- == ;
E el 1 -":4
| (=T T
l‘!l|5l “ “
Il
I"IQ }{dz AE
| || i a.
| S Y o
F |
L0
W5 o0 R S H [ N Hh & N ~
No. Dl D2 D3 n; X d1 Al A2 A3 A4 A5 A6 np X d2 E F G K L M N
7.1 | P160|D210| D240|6X D10| 90 | 128 | 158 [101.5] 144 | 173.5|8 X ®10| 118.7 | 449 919 | 427.5 | 1476 |1057.5| 600
8§ | D180|D230| D260|6X P10[101.5| 140 [170.5] 114 [156| 186 [8X D 10| 134 504 | 1033 | 481.5 | 1616 | 1114 | 600
W5 =/ S (N N FEART B b G A HH(kg) Hh 7K
No. a b c d e (6%£) (NEFEENGER M ES) ] =
7.1 500 490 157 1260 560 M20 X 500 411 AifhA& 6312 JE%lAk 7312C
8 500 490 163 1260 560 M20 X 500 4355 AUl 6312 JE%lAk 7312C




(2()ovGleL (IH)GlLgee: & [ ¥ B

cevl

0G¢

L8l |

1761

791 01l$X8

8 L0}
Lyl
LL)

161¢
8€¢¢
0L¢e

vl

L081

0lex9

BN AN WO

00GX0CHX8

GEG

(A3

089

9¢cl

BB W& 4% 1as 8 ON 60-8

147



8-09 No. 9D gttt EFE EEANZERWINBRTTER
9-12 No.8. 9D L
E
|
1 X
s 1 ]EI] 5097 # O
=
1 . ! | B
b= d‘_'-f_‘-'f‘}.'_
= L O O [ i
| ' Aq
s I o | L A
—_ 1= A7 | y
g ML
! fz ¥de |-"t,5|
Ag
L= .
| d
ZU D= RS v S B AN ST B R AN & s R ~F
5 |No.| D, D, | Dy |mXdi| Ay | Al |A| Ay | Ay | As | Ag | A7 | mXd | E |F|G|N|K|L | M
8-09| 9 |©202.5| 255 |P285/6X D10|_—| 114 [157| 183 |128.5 175 [ 201 | 8 X @10 [150.5/565|1158(680|542(1028[1257
912 8 | @280 | ®325|D362|6X D 10| 100 | 224 [262]292 | 100 | 80 | 142 | 172 [10X ® 10| 158 [515[1101|680|505|1045[1227
9 | 315 | D365 |[P395[6X 10| 110 [253.5(293|323 | 114 | 90 | 156 | 186 [ 10X ® 10| 178 |578]1236(770|567|1121[1384
YIRS = i N AN ¥ S A 7 (kg) Hh 7
5 |No.| a b c | d e ((LESY (LG HLHL At A ) il =
8-09| 9 [525] 590 | 190 | 765 660 M20 X 500 521 W 22215 J& 7215AC
0.1 8 |525| 590 | 186 | 785 660 M20 X 500 509 W 22215 J& 7215AC
9 |540| 590 | 193 | 800 660 M20 X 500 606 W 22215 J& 7215AC




